4 3 & 2 1

REVISIONS
REV. NO.i ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
03 - 02/2012 - - UPDATED WINDCODE CHART
CLOPAY MODEL 902 04 08/2{}12 REVISED FGR TDI
IDEAL MODEL C2AL UP_TO_22'-2* WIDE X 18-0“ HIGH 7 - -
03 - 08/2013 — — REMOVED ACRYLIC GLAZING OPTION.
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE .
SECTION § - 1 . R
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING COOE DOOR S MADE 3 pLL x 20 GA CALY. STEEL (MIN YIELD STRENGTH
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE OF 8063-T5 ALUMINUM EXTRUSIONS. S0KSI) U—BAR, ONE AT THE TOP OF EACH SECTION EACH
HORIZONTAL, TRACK SUPPORT BY WALL THICKNES U—BAR ATTACHED WITH (2) 1/4"x3/4" SELF TAPPING
COBR INSTALLER (16 SUMy IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS ToP & BOTTOM RAILS ————— 075 U DAR ATIAGHED WIH & 1
REGIONS (REF. CHAFTER 16 FBC/IBC) INTER. TOP & BOTTOM RAILS — 075 .
7 TOP HAS .1 x 1.875" FIN
INTER, TOP RAIL GAR w040 12 GA. GALV. STEEL TOP ROLLER BRACKET., EACH BRACKET
ﬂ GALV. TAPERED STEEL TRACK AND ANGLE, U-BAR SEE SECTION SE: & DUYBLE ENG STRES 072 ATTACHED W/(4} #14x5/8" SHEET METAL SCREWS.
A TRACK THICKNESS: 161" ANGLE THICKNESS: 080° 1-1 FOR DETAILS ADJUSTABLE, SLIDE ATTACHED TO TOP BRACKET WITH QTY
—.*_ » "
VERTICAL /HORIZONTAL TRACK 14" MAXIMUM SPACING , (2) 1/4” X 1/2" BOLTS & NUTS PER BRACKET. TWO
o | [T doNCon. WO 14" B0LTS. | FroM Lt MOURIG el w—.;;" “d’ﬂ’l—fﬂf BRACKETS PER SIDE
& | % NUTS FOR EACH TRACK, SLOT TO TRACHK JUNGTION I C-CHANNEL SEE SECTION
£ "‘\ 1-1 FOR DETAILS
@ ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS m——— i STRAPS ATTACHED WITH (3) 1/4" X3/4" SELF
g Jd OVER 7'0" HIGH SPACED AT 127 CENTERS. B T T ™ NN E I TAPPING SCREWS (TWO SCREWS TO DOCR, ONE
. TRACK CONFIGURATION BRAGKETS . SCREW TO C~CHANNEL). SEE REAR ELEVATION
‘ RNE Y % o FOR PLACEMENT.
8 1l TR 2oL D wuT - . M m- _‘E— ms'mm e e HHE
I fgci»%]%f:{-MUUNT‘NG SO NOTE: DOUEBLE TRACK LOW £ FULL-VISION SECTIONS TO_—
r DOOR [ r | i imreit et v s AN T st QL s
i §07 | BgT| S0 AMRE Hax, HEIGHT: | k¢ ____._.____..______i'n'm'm 6"x2~1/4"x12 GA. GALV. STEEL PLATE,
— = 8" x J SEE VIEW "E".
[ 19-0"1100 TWO POINT 45 [ l I I | I
EVERY 12 0’"""0" 1127 LOCKING ————T""| iy
2 -0"[136" REQD. !“ mmmm DOUBLE END ROLLER #14X5/8" SHEET METAL
o g - ¢ : e : L HINGES OF 14 GA MiN Schiows Qv (8 aLoNe
o ™ GALY STEEL, FASTENED AS )
----- i 15 =071172 ' SHOWN IN VIEW A, \
Lsmise [ 76 —070184" : ) T—— 9 STRAPS PER SECTION
T —1T98” Y i AS SHOWN
i * 2 o100 3" ROLLER CARRIER : !
18 —=0]208 PART # 0120394, q__m..] gar TypA— \
HOUNT WiTH arv 3 7 ‘ ‘
SELF DRILLING SCREWS \ ONE 8" TALL, 16 GA. C—CHANNEL
a¢ INUMBER OF . . o
DOOR HEIGHT a7 F'owtiing AS SHOWN 'iGJTE " vs 29" PANEL N BOTTOM SECTION PER DOOR SECTION. (1) : /438 SELE TAPPING
— ENTER STLES ALWAYS 22 CAN BE .050" THICK SMOOTH 1/4"%3/4" SELF TAPPING SCREW SCREWS. TV, (2) ALONG
ue Tt 80 ki FROM CENTER TQ CENTER. ALUMINUM PER END STRE AND BACKER CORNERS OF EACH HINGE
8"~ THRU 16'~0* 5 FOR ANY GIVEN DOOR AT THE CENTER OF EACH C—CHANNEL : PLATE LOCATION. (SEE VIEW "D")
10°-3* THRU 12'-0* 6 WIDTH, DIMENSION *8' THIS ATTACH THREE 6"x2--1/4"x12 GA, STEEL ’
123" THRU 14'-0* 7 DIKENSION WiLL NOT BE' PLATE. 7O THE UNDERSIDE OF THE THE VIEW "A"
14°-3" THRU 16°-9° a GREATER THAN 23" OR CCHANNEL WITH (4} 1/4"%3/4” SELF
163" THRU 189 9 LSS THAN 18" TAPPING SCREWS.
MAX. SECTION HEIGHT: 24" e £
END STILES FASTENED TO - i
CENTER STILES FASTENED TO RAILS BOLT i Fabb LENSTH l
3/16" M WAY BE BACK— WITH FULL LENGTH 57167 STEEL FLANGE NUTS 9-1/2" Y BOTTOM ROLLER BRACKET OF 12 GA, GALV. STEEL,
STEEL SAMB FILLED WITH RODS AND FLANGE NUTS GR-LOVLY CENTER HINGES DN FASTENED WITH (4) #14 X 5/8" SHT MTL. SCREWS
CONCRETE, BUT EVERY OTHER STEE STARTING A1 s/8" (ve)
NOT REQUIRED, WITH CENTER OF DOOR. VIEW "D" ) THIS DOOR MEETS OR EXCEGOS THE DESIGN LOADS FOR THE
5" TALL G- CHANNEL WIND SPEEDS USTED BELOW ACCORDING TO THE FLORIDA
gLRG. CODE OR IBC {ASCEY) FOR THE FOLLOWING
1/87xt" LONG . | CHR-LUVLY CENTER HIGE OF 3¢ Sa GaLV. 18 Gh SALY. STEEL | CONDSTIONS: 1) s a)u%u)mc. 2) DOOR HAS 27 OF
Q&gﬂgEéDM({E%OXX 3}?&";‘2??;?40“)5% ,TSD, ?HTEZTEDQC%EVRS AND 3 STEEL LONG MIN YIELD STRENGTH SOKS _/ WIDTH IN BUILDING'S END ZONE, 3) IMPORTANCE FACTOR OF
DE MIN.). WELD =
TO BE LOCATED VERTICALLY/  SIEEL.JAMBS TWO INTER, TOP RAIL WITH @ 1/4 = 20 x PUSH NUT-  STEM ROLLER BOTTOM SECTION REINFORGED WITH A TEMPERED 1.0, 4) ROOF SLOPE (ESS THAN 107, AND 5) 50%
ON ANGLE AT 24" 172" HEX HEAD MACHINE SCREWS & NUTS RETNFORCING FIN DN INTER, TOP ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR  Jir THESE (5) CONDITIONS ARE NOT MEF, A LICENSED
CENTER AND 1/4° TAGK “12 GA. GALV. REVERSE RAILS ANGLE CUT AT END STILES FLEXIBLE VINYL ASTRAGAL ENGINEER SHOULD BE EMPLOYED 10 DETERMINE {F THIS
WELD TOE OF ANGLE AT OR CONTINUOUS ANGLE SECTION 2 — 2 ] PRODUCT MEETS THE REGUIRED WIND SPEED.
SAME SPACING. MOUNT TRACK FASTENED SECTION 4 =~ 4]
DIRECTLY TO STEFL JAMB ‘ WiND SPEED (MPH)| <110 ] 120 | 120] 130
" EXPOSURE [FVEL |BorCl B 1 C |1 B
WOOD JAMB ON CONCRETE CONCRETE JAM |SECTION 5 = 5] STEEL_JAMBS W AM 3/8" x 1-1/2" M. ; : i
P, A MEAN ROOF MEIGHT| 30 30 |N/A | 30
GONGRETE e M AL SCREW. MASHER . TE DESIGN OF THE
3/8" BiA x 1=1/2" e i " SUPPORTING STRUCTURAL DESIGN ENGINEER: MARK WESTERFIELD, P.E.
i el k= aNGHOR S . To SECuRE . ELEMENTS 15 THE RESPONSIAATY FLORDA P.E. §48495, NC P #23332 TEXAS P.E. 91513 MANUFACTURING PRODUCT CODE!
BOLT, HESHER NCLO. 1/4"1-1/2" MAY BE BACK-FILLED /4314 LS. 2x6WOGD J * ok THE BUILDING ENGINEER OR DESIGN L0ADS: 30 & -30 P MPC: C-AL-1F 499
117 WMAX. HIN. EMBEDFTAP%%% WImTCgNC?\’IER\;:% Eg; gglﬁva;rAPPxNG g?’m?c?ﬁ?ng. ARERITECT OF RECORD. TEST LOADS +45 & —45 ps[:
10 SECUR 5o umue TP NASHER REQD. | SELF TAPPRG SoRew, i16° Wax. ac. L DA WSneR R, ; : Unless_Stated Otharwise | @ 8585 Duke Boulevard | CLOPAY WINDLOAD RATING
C'SINK F NEEDED. 3" MAX. 0.0, TQ SECURE " . s 3 TOLERANCES ﬁ ﬁ MGSOI’I QH 45040 USA
T SECURE ANGLE e / s 2 ore i, No. 513-770~4800 W5
TG CONCRETE. - CONTINUOUS ANGLE A NS L Sy 2 O = 4,031 Building Products Com n Fax No. B153-770-4853
MOUNT TRACK ‘ \U“ : ‘3 ol 03 ¢ By
CONTINUOUS ANGLE FASTENED 70 26 #2 . méi oPAR. con ‘f-;,: 00 = i-Oég DESCRIPTION: M/N 902, C24L, 222" WIDE DES. +30/-30 PSF
70 2x6 #2 OR BETIER ¢ «'3 . z 000 = £.0
Youiow Bt it / PINE JoMB WiTH She Y e Lo ALs” chHazé _BESERVED. 0000 = +.001 |DRAWN BY: BfFA DATE: 11/12/04; SCALE: NONE  |pwe.
ONE 5/16"1-5/8" LG, REVERSE OR CONTINUGUS REVERSE OR CONTINUOUS 5716 X1-5/87L6.LAG t 0.k iy - e
LAG SCREW PER TRAGK ANGLE MOUNT TRACK ANGLE MOUNT TRACK SCREW PER 1, "fL P Degrees = 4:1/2 CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
CLIP LOGATION. g ool gl v LockTaN. Yy, 8 dhhﬁ\‘\”gﬂe Unless Stated Otherwise - :
3 JAMB. .
Yy, B Proiestion DIMENSIONS ARE iN INCHES.| DWG, NO.: 103324 VER: IBC

4 | 3 o 2 1





